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APRJC Physical Science Model Paper-I111

\elocity of an object falling from a height of 19.6m, just before touching the ground is

19.6 Do B0 HHHX) & S5 e BOSHH T Sfo ()
A) 0 m/s B) 9.8 m/s C) 19.6 m/s D) v19.6m/s
Centrifugal force is used in ()
A) A planet revolving around the sun
B) Laundry drier
C) Road with banking
D) Rocket
9520500 SHRBPACIHE IO
A) éﬁ&g&iﬁo@{g 881 o B) ero& (EoHd
C) Kquéégé 8’5&58 D) oo8¢5
Which of the following have lowest wave length - ()
800aBE° w8 S SBorBEso Hed
Q620
A) Microwaves  B) Radio waves C) X-rays D) Y-rays
\elocity of sound on moon is
H0o(EHR QB0 ()
A) 0 m/s B) 330 m/s C) 1120 ft/s D) 660 m/s
In the term LASER'E' stands for = ()
LASER $&06° E eodre
A) Energy B) Electromagnetic C) Emission D) enthalpy
Web/ m? ()
A) Ampere B) Gauss C) dyne D) Tesla
The polo strength of a magnet, when the neutral points are at a distance 'd’ on its axial line
is ()
e P 'd o} R 200NN &8 & 0 NVV0
S0 Sap 'd' rEos® Sl Dowhend Nk & wahd=os ¢S
390d° 195d°

T B) 390d° c) 2 D) 19503
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Number of electrons in one
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coloumb =

goen08 e33508° &) doEe Sopg =
A)6.25x1018  2) 6.25x1018 C)6.25x10-1® D) 6.25x10-18

An immersion heater of resistance 23<2 is connected to a mains of 230v supply. Howmuch

current flows through it ? =

(

(

)

)

23Q RE° S0 Ko & asinds el ooy KODB rAbom ($H58°0D ¥80d =

A) 200amp B) 253 amp C) 207 amp D) 10 amp

The rate of electrical energy consumed is called =

A) electrical potential
C) electrical power

D558 DABTAOE
A) 5’3653?85 53"&3:‘305)5
C) 3365355 @"éag?go

E.C.E. of silver is =

B) mechanical equivalent of heat
D) electrochemical equivalence

Send  e90eTeDd.
B) &airo@8 Sargo¥o
&) 3)653?395 EJecHS Sergogo

08 3)653?395 lofuitons) éa@v?goéo

A) 0.00118gm/coloumb
C) 0.0000829gm/coloumb

The device which converts
Ao %_%DK) C‘Dd)gisﬁm

B) 0.0003294 gm/coloumb
D) gm/coloumb

mechanical energy into electrical energy is =
é:"al) eSS0

A) Transformer  B) Dynamo C) Motor D) Resistor
1lamu =
A) 1.66x10724kg B) 1.66x10%*g  C) 1.66x104g D) 1.66x10" kg

The artificial radioactive se
685 SERreed)E @ed

ries is

A) 4n B) 4n+1 C) 4n+2 D) 4n+3

Disintigration is faster when half life period is =

A) high B) smal
@géaé PO
A) 8

C) 8Er8d& 60Kk

I C) doesnot depend D) can't say
S o &2601:@63) Q050 Sme edidE0k.
B) &%),
D) 380
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When a 3 particle emitted by an atom, its mass number =
A) decreases B) Increases
C) remains same D) may decrease or increase

990D Eero NSNS T 3855073 KSowg =
A) ErHo B) &0
C) dore Gothd D) 2EKSEy S S0

The material used to slowdown the neutrons in a nucleas reactor is =

A) Graphits B) Heavy water C) uranium D) cadmium

$7og80HE BALEES® Segerd SrmeR) SRoBohs B ?

A) ¢ B) g&ee0 C) o»3aHo D) so&yao
Reactions takes place in stars

A) fusion B) fission C) chemical D) nuclear

SgEred® 2R $ten

A) Bo(58 K0dSo  B) D3 C) EJeaHS D) Bo(&5%

The absence of electron in the valence bond of a semiconductor is called

K03y o“aééé’s OES B 90ETO.

A) Intrinsinc B) Extrinsic

C) Hole &6 D) conduction &es5E0

A) Sqeredes B) D8 C) EFeoHS D) Bo(&$%

The process of fixing messages to r.f. carrier waves is called

A) doping B) modulation C) de-modulation D) scanning
BTy SEomrely  aEry Stomres® Sodwl) _ ©0oerd.
A) &2508 B) S 85S C) & LregBRS D) a7 0f

Which of the following is a terminal of a transister
800aRS° (EPNE 8RS

A) Emitter B) Base C) Collector

A) &80 B) esgeso C) EBeS D) 2258y

www.sakshieducation.com

D) All the above
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Achannel of __________ wide is allotted for tramsmisson of a complete T.V. programme.
28 FPOFon S80S TUgEo BICo VDo &) Ko IS
BeTP 000, ()

A) 6 MHz B) 0.5 MHZ C) 12 MHz D) 30 MHZ

The high level language can be translated into machine language by ()
ENDINE ISR T R T [—

A) Assembler B) computer C) software D) processor

The angular velocity of a particle which makes 300 revolutions per minute is

A0PR8 300 (@sdoesren B 2.8 ewo 8%e30H S o ()
n T —rad/sec

A) 30 rad/sec 10 rad/sec C) 10r rad/sec D) 10m

Lumen/ m?= ()

A) 1 candela B) 1 phot C) 1 lux D) 1 steradian

Planck explained the __________ radiation based on his quantum theory. ()

A) Electro magnetic  B) Black body C) o~ radiation D) IL.R.

208 88 Tg000 JEFosR) SRR D8BeR) HILEOOTED.

1) é’)cSo?ScSoS:@v&oéé B) s’@o:%éé_ga@

C) 0 —BEBRS D) $ooHes

Bhor's Model couldnot explain — ()

A) spectra of atoms with more than one electron
B) Quantization of angular momentum

C) Formation of chemical bonds

D) All the above

&5°8 S DSBoBSAD

A) 2885 JES doEEenrio ST S50
B) §%8a (&Ssaifo sesoelEtes Boehes

C) 0D e20mPen Y

D) 20850y
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28. Match the following :

29.

30.

31.

32.

a) Neils Bohr ( ) 1) Magnetic Quantum number

b) schrodinger ( ) 2) Principle Quantun number

c) Lande ( ) 3) Electron occupies the lowest energy level first

d) Aafbau ( ) 4) wave equation

) 55508368 (1) 1) 0ahI) 08 seg0e0 Soag

) #8086 () 2) oS sog0e0 Sogg

) or0d ()3 o)@LSScS Soo0chre S8y Fgre @69&?@5?63 e3ED0d0d
&) esH° () 4) 880 $&ESes0

A) a-1,b-2,c-3,d-4
C)a4,b-2,c1,d-3

B) a-4, b-3, c-2, d-1
C) a-2, b-4, c-1, d-3

The maximum value of | forn=5is
N=5 a0l | pfex} Qend
A) 5 B) 3 C) -5 D) 4

which of the following has coordinate covalentbond =
806°¢83E° $ioSqah Hforadad woko Kok

A)C, H, B) CO, C) Hcl

D) [Cu (H,0),]**

Atomic size has been measured by using method
A) o~ray scattering B) x-ray transition
C) uv- ray scattering D) assumption

DBXTee0 é@aﬁﬁwa& écg@ &eqoP s’:éoﬁ"m&ci)?
A) 8 o“aég B) 8560 5058
C) ©8Qe&%rd 88 HBEHD D) &83%050¢d

The elements from Actinia to Nobelium are known as
A) Lanthanoids B) Representative elements
C) Actinoids D) Transition elements

esgﬁoﬁ)o 200D JTeE3OAH0 ST Ko Sreosee
A) grogTron&en B) (P8¢5 Saeeseen
D) $0838S Sareeseen

C) es§Tronben
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which of the following doesnot react with water
8ooare38® D& S8y s

A) Mg B) Be C) Ca
Is used in crackers
eeed0me SoEEE &HBrARD
A) Ca B) Ra C) Mg
Mgcl, exhibits nature.
A) lonic B) Polar C) Covalent
Mgel, — $o3Q) (©&8)080.
A) 90508 B) &35 C) SoBrzdohH

solubility depends on

A) Nature of solute
C) Temperature

(eSedoHhes

A) (@8 Sggresso
C) &P

B) Nature of solvent
D) All the above

B SEEHES

B) (&°83e8 Kgersso
D) 20558

Concentration of a solution can-be measured by
A) weight percentage

C) Molarity

(°Se9s) TGS

A) 830
C) J0edéd

B) volume percentage
D) All the above

SNes 8@3‘/03%5&5&3.

B) $0350835°e8 B°80
D) 20558

colour of methyl orange indicator in acidic medium is

A) pink

B) green

C) orange

95D (508" RS wBoE Sy Sord

A) 1Heed)

B) esiis)

Week acids ionize upto
O ST wohdEn KoSsPmo

A) 50%

B) 100%

C) Sedoe3

C) >100%
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D) Rb

D) Ba

D) Acidic

D) ess

D) Red

D) 255

D) <100%
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Aeromatic Hydrocarbon is
T EPSE T E NS srriedes

A) C,H, B) C¢H, C) C,H,, D) C3Hg

gas is used in welding.
3&@)05@6 SHRBPA0YR Ay

A) C,H, B) C,H, C) C,H, D) CH,

Calorific value of an egg is
0 SE°BHE Dends

A) 110K.cals B) 245 K.cals C) 173 K.cals D) 8.5 K.cals

Which of the following is used to get absolute alcohol from rectified spiritis —_ (
B8E 28¢5 50D egeueges wepFsSty JroBoldd Fud

A) H,SO, B) Cao C) P,O, D) pyridine

In tollen's Test, glucose reduces
S°8Y) HOLE® KpstE KowrktoBe o

A) Ag metal to Ag* ion B) Cu?* ion to cu* ion
C) CU* ion to Cu?+ion D) Ag* ion to Ag metal

The cation of soap used as face powder is
S50g7°Q8 TSR FPEDHE® o oS

A) K* B) Mg?* C) Li* D) Ca?*
The plastic material used in combs is

A) polyethylene B) PVC

C) polyesters D) polystyrene
RS0 So0S° oo E

D) O OIS &) PVC

D) FOIHEew &) &R0
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47. The main constituent of cold cream is
A) Almond - oil
C) Rose water

80 SH308% Sogg Hosverso
) 2P0 AP
) 8°& awerd

48. COOH
é:ro—g ~CH s the structure of
0

49.

50.

01) C
08) A
15) B
22) A
29) D
36) D
43) B
50) B

COOH

—c- QT2E90
@o ('é CH, 3

A) Paracetabol

B)

Defecation is the addition of

RHBASE® ED Q8 90O

CO, C) Molases
Standard solutions are prepared in

A) SO,

A) conical flask

B)

C) Round bottomed flask
B&mes (eSerrety 8 SeTeHRI

A) 305 SUEV

C) thoes By

02) B
09) D
16) C
23) C
30) D
37) D
44) D

03) D
10) C
17)B
24) C
31) B
38) D
45) B

B) Beeswax

D) All the

above

9) 838re oo

&) 25N

Aspirin

KEY

04) A
11) A
18) A
25) C
32)C
39) D
46) D

C) Quinolin

B) standard flask
D) Density bottle

B) (©5es K2
D) Sro(&38 20&

05) C
12) B
19) C
26) B
33)B
40) B
47)D
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D) Ca(OH),

06) D
13) B
20) B
27) D
34)C
41) C
48) B

D) Harmone

07) C
14) B
21) D
28) D
35) A
42) C
49) D
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